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HUMAN RESOURCE PLANNING &
DEVELOPMENT

(Major) '
Paper : 205 (Spl. Paper)
Full Marks : 80
Timc : Three hours
The figures in the margin indicate full marks
for the questions.
.  Answer the {ollowing as dirceted : 1%x10-=10
Direction for (a) to (d) :
Iill in the blanks with suitable answers .

(a) Lcarning organisations have competence
to learn, .. ... codify and use
knowledge faster than their rivals.
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(b} Juran’s Project improvement approach s
" very popular among .. - companics.
~ oriented training

(¢) Development ¥ P
erowth of the

focusing on the personal
employee.

ses on judging

(d) Performancc appraisal focu
ol the

the performance and future . .

employcc.

Direction for (€} 10 (g) :
Siate whether the followin

" or false :

g statements arc true

(e) Promotion mcans carect advancement within
and outsidc an erganisation. (TRUB/FALSE)
HIRIS links all the decision making centres

¢

in an organisation. ('['RUH/}"AI,SI'Z)
(g) 'the Flawthorne experiments Were carricd out
' Co. U.S.A. (TRUL/

at The General Vlectric
FALSE)
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(h) The de
he devetopment of HRM is taki
ing

place in

(Choose th
) e correct an
options) swer from the

(i} Theory
(ii) Practice
(/i) Both (i) and (ii)

(iv) Nonc of the above

In whi :
o ich of the following methods a

' gs spread over a v Are
grades ? number of

(i} Graphip Scales Method
(i)  Grading system
(iii) Forced Distribution Method

(iv) Critical Grade Mcthod

Contd.




() By which onc¢ of the methods can attrition
be mcasured ?

(i} Dividing Rate method
(i) Placement Rate method
(iii) Labour Ratc method

(iv) l.abour Turnover mcthod

2. Write very short answers on the lollowing
2x5-:10

(i) Two clements of Carcer Management
Programinc.

(ii) Two Advantages of computerised RIS
(iii) Two objectives of exceutive development

(iv) Two crileria for measuring training
clfectiveness.

(v)  Two requircments in recruitment cycle time.
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Writc short answers on any four of the

following : 5x4-20

()

(i)

(iii)

(iv)

(v)

(vi)

Distinguish between Job Enlargement and

Job tnrichment.

Write a note on “‘kaizen®.

What is vestibule training ?

Discuss any two modern mcthods of

performance appraisal in bricf.

Comment on the Lev and Schwartz, model
of HRA.

Why 1s Human Resource Management
important in an organisation ? Discuss

bricily.
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(a)

(b)

(c)

(d)

(e)

Answer ahy four qucstions.  10x4-40

“Human Resource Planning has greater
relevance in the present day context of
technological revolution than ever before™.
Substantiatc this statement. 10

‘“Performance appraisal fails duc to
personal bias™. Discuss the statement in
the light of appraising employces in an
objcctive manner. 10

Write short notcs on :
(a) Reasons for Demotion 5
(b) Voluntary Retirement Scheme 5

What is meant by exccutive development ?
What are ils objectives and how does it
help- the executive ? Discuss. 10

“}IR audit may be internal or external,
rcgular or crisis audit”. Comment on the
statecment. 10
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Distinguish between
Resource Audit and
Resource Accounting.

Human
Human
10
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